
Soustraire des fractions mixtes négatives (C)

Nom: Date: Note:

Calculez chaque différence.

1. (−3 611) − (−549) =

2. (−156) − (−557) =

3. (−156) − (−535) =

4. (−4 511) −
1
2 =

5. (−578) − (−525) =

6. (−3 311) −
9
10 =

7. (−112) −
6
7 =

8. (−123) − (−427) =

9. (−5 112) − 227 =

10. (−558) −
8
9 =
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Soustraire des fractions mixtes négatives (C) Réponses

Nom: Date: Note:

Calculez chaque différence.

1. (−3 611) − (−549) = (−3911) − (−499 ) = (−35199 ) − (−53999 ) = 188
99 = 18999

2. (−156) − (−557) = (−116 ) − (−407 ) = (−7742) − (−24042 ) = 163
42 = 33742

3. (−156) − (−535) = (−116 ) − (−285 ) = (−5530) − (−16830 ) = 113
30 = 32330

4. (−4 511) −
1
2 = (−4911) −

1
2 = (−9822) −

11
22 = (−10922 ) = (−42122)

5. (−578) − (−525) = (−478 ) − (−275 ) = (−23540 ) − (−21640 ) = (−1940)

6. (−3 311) −
9
10 = (−3611) −

9
10 = (−360110) −

99
110 = (−459110) = (−4 19110)

7. (−112) −
6
7 = (−32) −

6
7 = (−2114) −

12
14 = (−3314) = (−2 514)

8. (−123) − (−427) = (−53) − (−307 ) = (−3521) − (−9021) = 55
21 = 21321

9. (−5 112) − 227 = (−6112) −
16
7 = (−42784 ) −

192
84 = (−61984 ) = (−73184)

10. (−558) −
8
9 = (−458 ) −

8
9 = (−40572 ) −

64
72 = (−46972 ) = (−63772)
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